RF Impedance Matching Calculator

Calculates the network to match a line to a specific complex load.

Parameters
Characteristic Impedance:
Frequency:

Output Match Type:

Input Type:

Parallel Resistance:

Parallel Capacitance:

1000

0.455

| Single-Ended v|

| Parallel Complex Load v |

2000

22

Q (0 < Z, <= 1000)

MHz (0 < F,, <= 20000)

Q (0 < Rp <= 10000)

PF (0 < Cp <= 1F)

Your Inputs

Z,. 1000 Q

Fg: 0.455 MHz
Output: Single-Ended

Rp: 2000 Q
Cp: 22 pF

Input: Parallel Complex Load

Qutputs

L1: 349.791 yH
C1: 152.896 pF

Z1: 1968.85 - j247.66 O

C2: 349.791 pF
L2: 621.415 pyH

L1
SO

349.791 pH

C1--152.896 pF

Cc2
] 1

11
349.791 pF

L2 2621.415 yH

Z1
1968.85 -
j247 66 O

Z1
1968.85 -
j247.66 O




RF Impedance Matching Calculator

Calculates the network to match a line to a specific complex load.

Parameters
Characteristic Impedance:
Frequency:

Qutput Match Type:

lnput T}"[CJEZ

Parallel Resistance:

Parallel Capacitance:

600

0.455

| Single-Ended v

| Parallel Complex Load v |

2000

22

Q (0 < Z, <= 1000)

MHz (0 < Fy <= 20000)

Q (0 < Rp <= 10000)

PF (0 < Cp <= 1F)

Your Inputs

Z, 600 O

Fo. 0.455 MHz
Output: Single-Ended

Rp: 2000 Q
Cp: 22 pF

Input: Parallel Complex Load

Qutputs

L1: 320.589 yH
C1: 245157 pF

Z1: 1968.85 - j247.66 O

C2: 381653 pF
L2: 423139 yH

L1
S

320589 pH

C1--245.157 pF

Z1
1965.85 -
j247.66 O

c2
] 1

11
381.653 pF

L2 2423139 uH

Z1
1968.85 -
j24766 O
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